ECE 320: Quiz #1: Name

EE 206 Review
1) Conservation of Current: Determine the currents Ia, Ib, Ic, and Id
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2) Conservation of Voltage: Determine the voltages V1, V2, V3, and V4
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3) KVN: Write the voltage node equations for V1..V4 (sum of cutrents = zero).

VA1 100 .
260 12v
g.3/3 500
300 600
2A
* V4 T
400
P N, M\‘jﬁa
= o
\\(! A - \53 = 3.2@‘
PO Na-Vy Vo, Y3y
M{“{z}g 5zn) Lo KOO O
\J vy
R
S S,




4) KCL: Write the current loop equations for I1..14 (sum of voltages equals zero)
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5) Thevenin Equivalents: Find the Thevenin equivalent for the following circuit:
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Bonus! In Fargo, 1kWh gfjglqgt’rieity costs about $0.10. How many pounds of coal does it take to
produce 1kWh? ) s "
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